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Find all critical pomts of
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You do-(H oblem 14.2/5) c. Suppose (x,y) = ( 6,\/) ?%L
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b.Find the largest and smallest values f(x,4), f(x,6), f(x,8) or f(x,10)

of f(2,y) on the interval y=-4 to y=0. ) ==l rix-Ct-lrtszxeso

?(2/9 = —2% +4 —L}j’h_a}#l&j 1—36,\@%“ iy (w4 < see(h=nn
— -L&j + Bg’ —\- \Q .Q (i ) = L Freble) =32

Lj(l j\ - — 8j Y17 == Y= "6_':,.1,62( TEK(/E;) SN AWERSY ﬂ,SLf

) = (T e %AGQ_Q_
L:(% 0= - ' 'QX( ({{{S\ Tl kl-{-l«*’ﬂ(]é‘f}?}:“

-('77(4 = ~YL o) "’b O)+[° - \O }
e



Example (From HW 14.2/6)
Find the critical point for
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More Applications | Question:
The current hourly rate for labor is $20

Cost Breakdown (14.3/1-2) | and material is $55 per pound.
Suppose the cost to produce ONE item How will a Sl per hour raise for labor
is given by: ‘,_....»affect the cost to produce 1 item?
C(x,y) = 3x% + 482 + 5xy + 10, | o
where Iﬁ Cx (7-0/ s5) = £(20) £5 (597

4
x = cost for 1 hour of labor, and g "[_}j_sj
y = cost for 1 pound of materials. |
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Marginal Pfoductivity (14.3/5-6)
Suppose that the number of crates of
a particular fruit produced is
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x = number of hours of labor, and D' = 0.03
y = number of acres of the crop. | |
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